220
200
180
160
140
120
100
B0
60
40
20

Sooo

[

0

®,
—

Run 5627 quartetwise, Asyms0 (Raw): All

quartetwize_asymi

Entries 224474
Mean 1.062
Std Dev 8844

o :'»«’u'lﬂi:':l

—1000

0

1000

2000

3000

gHelNSamples0)/|PosHelAccl/PosHelNSamplesd + NegHelAccO/NegHelNSamples0 - 0.000000)

Run 5627 guartetwise, Asyms0 (Raw): Beam ON, Laser ON

guamstwisa baami las! asymi

Entries 0
Mean 0
Std Dev 0

220
200
180
160
140
120
100
B0
60
40
20

Hoor

Run 5627 quartetwise, Asyms0 (Raw): Beam OFF

L

0

¥
—

quarebwise_bsamd asyrb

Entries 224474
Mean 1.062
Std Dew 9844

o :'-sz'lllzii::i

|
—1000

0

1000

2000

3000

gHelNSamples0)|PosHelAceO/PosHelNSamplesd + NegHelAccO/NegHelNSamples0 - 0.000000)

Run 5627 quartetwise, Asyms0 (Raw): Beam ON, Laser OFF

quamstwiza baomi losl asymi
Entries 0
Mean 0
Std Dev 0




Run 5627 quartetwise, Difts0: All

guartetwise diff0
annn — Entries 224474
E b ean 7.4250=05
BOOOD — Std Dev  0.04658
7000 —
BOOO —
5000 —
4000
3000 —
2000 —
1000 —
l|::|_|IIII|III|| II|IIII|IIII|IIII|IIII|II IIIII|II
-0.25% 0.2 -0.15 0.1 -0.05 0 0.05 0.1 0.15 0.2

PosHelAccO/PosHelNSamplesD - NegHelAccO/NegHelNSampleso

Run 5627 quartetwise, Diffs0: Beam ON, Laser ON

quanebwise_beaml_las? ot

Entries 0
Mean 0
Std Dev 0

9000

BOOD

000

6000

5000

4000

3000

2000

1000

0

-0.25

Run 5627 quartetwise, Diffs0: Beam OFF

quartetwiss_k=am0_difio

224474
7 4250-05

0.04656

Enirigs
Mean
Sid Dev

-0.2

-0.15

-0.1

-0.05

D

0.05 0.1

015

0.2

PosHelAccO/PosHelNSamples) - NegHelAccO/NegHelNSampleso

Run 5627 quartetwise, Diffs0: Beam ON, Laser OFF

quanebwise_beami_last diif

Entries 0
Mean 0
Std Dewv 0




10000

BOOO

6000

4000

2000

Run 5627 quartetwise, NegHelAccO/NSamples0:

All
quartetwize_negHQ
Entries 224474
Mean 017N
Std Dev 0.102

0.2

1
0.4

MNegHelAccD/NegHelNSampleso

Run 5627 quartetwise, NegHselAccl/NSamplesl: Beam ON, Laser ON

guamstwisa baami_last nagHD

Entries 0
Mean 0
Std Dev 0

10000

BOOD

6000

4000

2000

Run 5627 quartetwise, NegHelAcc0/NSamples(: Beam OFF

guarebwise_bsamd negkll
Entries 224474
Mean -0.1791
Std Dev 0.102

0.2

1
0.4

MNegHelAccO/NegHelNSamplesO

Run 5627 quartetwise, NegHselAccl/NSamples: Beam ON, Laser OFF

ﬂ.im.“““ﬂ kaami lasl HIIEH[I
Entries 0
Mean 0
Std Dev 0




9000

BOOO

000

6000

5000

4000

3000

2000

1000

Run 5627 quartetwise, PosHelAccO/NSamplesC: All

guartetwise posHO
Entries 224474
Mean -0.179
Std Dev 01018

5
wp

0.2

PosHelAccO/PosHelNSamplesD

Run 5627 quartetwise, PosHelAccO/NSamplesd: Beam ON, Laser ON

guamnsiwisa baami los! poskHc
Entries 0
Mean 0
Std Dev 0

9000

BOOD

7000

6000

5000

4000

3000

2000

1000

Run 5627 quartetwise,

PosHelAccO/NSamples0: Beam OFF

guarelwise_bsarnl pashd
Entries 224474
Mean -0.179
Std Dev 01019

5
]

0.2

PosHelAccO/PosHelNSamplesD

Run 5627 quartetwise, PosHelAccO/NSamplest: Beam ON, Laser OFF

auamstwiza baami lasl posko

Entries 0
Mean 0
Std Dewv 0




10000

BO0OO

6000

4000

2000

Run 5627 quartetwise, Sums0: All

quartetwize_summbD

Entries 224474
Mean —0.3581
Std Dev 0.1986

Ll L

4 1.2 -1

-0.8 086

0.4

-0.2

0

0.2

0.4

0.6 0.8

PosHelAccO/PosHelNSamples? + NegHelAccl/NegHelNSampleso

Run 5627 quartetwise, Sums0: Beam ON, Laser ON

guamshwiza baami las! summi

Entries 0
Mean 0
Std Dev 0

10000

BO0D

6000

4000

2000

Run 5627 quartetwise, Sums0: Beam OFF

quartebwise beaml surmmd

Entries 224474
Mean —.3581
Std Dew 015986

Ll L

4 1.2 -1

-0.8 086

0.4

-0.2

D

0.2

0.4

0.6 0.8

PosHelAccO/PosHelNSamples? + NegHelAccl/NegHelNSamples0

Run 5627 quartetwise, Sums(: Beam ON, Laser OFF

quannstwisa baami lasl sumimil
Entries 0
Mean 0
Std Dev 0




